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1-1. �� NS ������
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1-2. OM ���� POQ �
���

1-3. �� ∠QOM � ∠POM ��
�

1-4. � P ��� OX ��� PH���� H�������
� PHO � PMO �����

1-5. �� ∠POX = ∠POM = ∠QOM � ∠XOY = 3∠POX�

�Æ �30%�������ABCD ���� S ����a1, a2, a3 �
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2-1. ���� CE, CF, CB, CD ��� CE · CF · CB · CD �

�� S, a3 ���

2-2. ���� CE, CF, CB, CD ��� CE · CD · CB · CF �

�� S, a1, a2 ���

2-3. ��

S2 − 2(a1 + a2 + a3)S + 4a1a2 = 0.

2-4. � S �� a1, a2, a3 ����

2-5. ���� AEF ������ a1, a2, a3 ���

2-6. Æ� a1 = 12, a2 = 12, a3 = 6�	��� AEF ����
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�Æ1-1. �� NS �� O, M ���

1-2. �� O, M ��	�� NS �� ∠RSO = 90◦��� OM
� PQ������ MP = MQ�����������
�� OM ���� POQ �����

1-3. ����� POM ���� QOM ���������

� MP = MQ, OM = OM, ∠OMP = ∠OMQ�����

��� POM ������ QOM ���� ∠QOM =
∠POM�

1-4. �� PH �� l � OX ������ PH = PM = 1��
���� PO�������� POH ������ POM
 ���)�*�
������ POH �� OM ���

��� POM �� OH +��������� POH ��

���� POM ���

1-5. ������� POH ������ POM �����

∠POH = ∠POM�� ∠QOM = ∠POM���

∠POX = ∠POM = ∠QOM

�

∠XOY = ∠POX + ∠POM + ∠QOM = 3∠POX.

�Æ2-1. �� CE · CF = 2a3�CB · CD = S���

CE · CF · CB · CD = (CE · CF ) · (CB · CD)

= (2a3) · S
= 2a3S.

2-2. �����

CE · CD = �CEE ′D
= �ABCD − �ABEE ′

= S − 2a1.
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CF · CB = �CBF ′F
= �ABCD − �ADFF ′

= S − 2a2.
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��

CE · CF · CB · CD = (CE · CD) · (CF · CB)

= (S − 2a1) · (S − 2a2)

= S2 − 2(a1 + a2)S + 4a1a2.

2-3. ) 2-1. � 2-2. �����

2a3S = CE · CF · CB · CD = S2 − 2(a1 + a2)S + 4a1a2

!

S2 − 2(a1 + a2 + a3)S + 4a1a2 = 0.

2-4. �� S ��

S2 − 2(a1 + a2 + a3)S + 4a1a2 = 0,

��

S =
2(a1 + a2 + a3) ±

√
(2(a1 + a2 + a3))2 − 4 · 4a1a2

2

= (a1 + a2 + a3) ±
√

(a1 + a2 + a3)2 − 4a1a2.

�� S ≥ a1 + a2 + a3���

S = (a1 + a2 + a3) +
√

(a1 + a2 + a3)2 − 4a1a2.

2-5. �� 2-4. ������� AEF ����

�AEF = S − (a1 + a2 + a3) =
√

(a1 + a2 + a3)2 − 4a1a2.
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2-6. �� 2-5. ������� AEF ����

�AEF =
√

302 − 4(12)2 = 18.
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%Æ ����� x ������������)�	��

x + 173

x + 105
= 1.618 ⇒ 0.618x = 173 − 105 × 1.618.

�� x � 5.03������ 5 ��������
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